Full ALIGO Interferometer Simulations
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Varying Rcy of SR2 with 2 arm cavities and SRC
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Scattered Power [%]

Varying Rcy of SR2 with 1 arm cavity and SRC
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One Arm LIGO Interferometer Simulations
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Comparison Check Between Full Interferometer and Simplified Model

Power Scattered Comparison
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SR2 y Radius of Curvature [m]

-6.0

—6.2 1

—6.4 1

—6.6 1

—6.8 1

Power in Higher Order Modes [%]

-7.0
35.5

35.6

35.7 35.8 35.9 3é.0
SR3 y Radius of Curvature [m]

36.1

36.2

10!

100

107!

1072

SR2 y Radius of Curvature [m]

-6.0

Mode Mismatch ITMX pl -> p2

|
o
¥

)

|
o
i

1

|
o
[=)]
1

|
o
2]
1

=7.0

"35.5

35.6

35.7 35.8 35.9 36.0
SR3 y Radius of Curvature [m]

36.1

36.2

107!

1072

1073

10~

1075



Full Interferometer Intensity Plots
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Mode mismatch is near zero, why do we get a very astigmatic beam?




